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Magnetic Field & Force

31.  Acharge particle moving in magnetic field B, has the components of velocity along B as well as perpendicular
to B. The path of the charge particle will be
(1) Straight along the direction of magnetic field B
(2) Circular path
(3) Helical path with the axis along magnetic field B
(4) Helical path with the axis perpendicular to the direction of magnetic field B
gD &3 B # T v AR &ur & 9 @ wed, B @ argfaw iR B @ awad & | Smaf¥id wvr T ger gn
(1) grrara &5 B @1 fen & srgfes wa W
(2) TR
(3) grE®HT &= B & 3rfaer fer &r gotlde
(4) g &3 B @1 e & Jwad 31 &1 gelidhd
Question ID : 3666942978
Option 1 ID : 3666949319
Option 2 ID : 3666949320
Option 3 ID : 3666949321
Option 4 ID : 3666949322
Ans.  Official Answer NTA (3)

V2
Sol. B
Vl
Due to component v ,magnetic force F = qv Bsind =0
So v, remains unchanged but due to component v, magnetic force act towards centre i.e. moving it circular. So
path is helical with the axis parallel to magnetic field B.
Electrostatics

32. Graphical variation of electric field due to a uniformly charged insulating solid sphere of radius R, with distance

r from the centre O is represented by :

T UHEAT ARG TaTeld B4 el & PHIROT AR WIHl IR Iggd &3 Bl AT uRad [+ JeR yaflid & :
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3) i 4 i
1 > r L » T
r=R r=R
Question ID : 3666942980
Option 11D : 3666949330
Option 2 1D : 3666949327
Option 3 ID : 3666949329
Option 4 1D : 3666949328
Ans.  Official Answer NTA (2)
Sol.  Electric field of solid sphere (uniformly charged)
Q =R
dne,r
E(r)
Qr —r<R
4ne, R°
Graphically
E(r) crforr <R
o izforr >R
r
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E (r)

Capacitance
33.  Inthis figure the resistance of the coil of galvanometer G is 2 Q2. The emf of the cell is 4V. The ratio of potential
difference across C, and C, is:

39 o  armErdl G @1 fusel o1 gfare 2 Q 8 | At @1 fagygd ared 94V &1 C, 7 C, fmarRi &1 srurd &:

N

(1)1 @3 Ok @
Question ID : 3666942979
Option 11D : 3666949324
Option 21D : 3666949323
Option 3 ID : 3666949325
Option 4 1D : 3666949326
Ans.  Official Answer NTA (2)
Sol.  V,, =i(6+2)=8i
V., =i(2+8)=10i

Ve, 8 8 4
SO’—:—.:—:—
Ve, 100 10 5

MATRIX JEE ACADEMY
Office : Piprali Road, Sikar (Raj.) | Ph. 01572-241911

Website : www.matrixeduw.in ; Email : smd@matrixacademy.co.in

Page No. 4




n M ATRIX Question Paper With Text Solution (Physics)
JEE Main April 2023 | 08 April Shift-1

KTG & Thermodynamics

34.  Givenbelow are two statements:
Statement I : If heat is added to a system, its temperature must increase.
Statement I1 : If positive work is done by a system in a thermodynamic process, its volume must increase.
In the light of the above statements, choose the correct answer from the options given below
(1) Both Statement I and Statement Il are true
(2) Both Statement [ and Statement II are false
(3) Statement I is false but Statement Il is true
(4) Statement I is true but Statement Il is false

Given below are two statements:

HYT | : 919 BT B S <) SR 8, SHDT ATIH aeY g1 dTfey |
FUA I : TP SO TS Upd d M1 8T g1 B {1 ST 2, SHBT I 312 g T a1fey |
SRRB Bl & Had 4, A 37 T fJpeni § Hel IR gy -
(1) 3=l e T s Il |e! 8
(2) T=i wod [ @ T 11 7Terd &
(3) P Terd € uRg o Il Wl 2
(4) D1 HE € wRg HuA 1 T &
Question ID : 3666942963
Option 11D : 3666949259
Option 2 ID : 3666949260
Option 31D : 3666949262
Option 41D : 3666949261
Ans.  Official Answer NTA (3)
Sol.  Statement -1 is false
W =Pdv

= w=+1ve = Sodv=+ive
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Newton's Laws of Motion

A
35.  Two forces having magnitude A and 5 are perpendicular to each other. The magnitude of their resultant is :

Aa%w&m@ww—@@w%w@wﬁwﬁmw%:

nEA @) £ () B2

Question ID : 3666942967
Option 11D : 3666949276
Option 2 ID : 3666949278
Option 3 ID : 3666949277
Option 4 ID : 3666949275
Ans.  Official Answer NTA (1)

Sol.

F-(F+F)

‘F’ = JF? + F? +2FF, c0s 90°

2
_Ja A A
4 2

Geometrical Optics
36.  Inareflecting telescope, a secondary mirror is used to :

(1) Remove spherical aberration
(2) Move the eyepiece outside the telescopic tube
(3) Make chromatic aberration zero

(4) Reduce the problem of mechanical support

T WRIad greelt # va gl <dr o1 ganT feas forg g @

(1) e fagerd @ o |
(2) AT DI R el ¥ =R A H
(3) avi fauer T w=A H

>
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(4) T3 IR B FHRT DI HH PR 4
Question ID : 3666942975
Option 11D : 3666949307
Option 2 ID : 3666949308
Option 3 ID : 3666949309

Option 4 ID : 3666949310
Ans.  Official Answer NTA (2)

Objective
mirror

Secondary
mirror “SNa

Sol. Eyepiece

It has advantage of a large focal length in a short telescope

Dual Nature of Radiation & Matter

37. Proton (P) and electron () will have same de-Broglie wavelength when the ratio of their momentum is (assume,
m = 1849m ):
I (P) I Setdgfe (€) 1 S—arell aRraed Tep WA &1l 31d §70 WMl ot a1gurd & (m, = 1849 m M) :
(1)1:43 (2)1:1849 3)1:1 4)43:1

Question ID : 3666942974

Option 11D : 3666949304

Option 2 ID : 3666949303

Option 3 ID : 3666949306

Option 4 ID : 3666949305

Ans.  Official Answer NTA (3)

h=—
Sol. P
A — same So P will also be same

SoPP:Pe=1:1

MATRIX JEE ACADEMY
Office : Piprali Road, Sikar (Raj.) | Ph. 01572-241911

Website : www.matrixeduw.in ; Email : smd@matrixacademy.co.in

Page No. 7




n M ATRIX Question Paper With Text Solution (Physics)
JEE Main April 2023 | 08 April Shift-1

Communication Systems

38. ATV transmitting antenna is 98 m high and the receiving antenna is at the ground level. If the radius of the earth
is 6400 km, the surface area covered by the transmitting antenna is approximately:
T I UNF US98 m AT § T AT VST -FR W ¥ | I gt a1 f3xsar 6400 km B, 9 S gRT R T
T BT EFBE AT &
(1) 4868 km? (2) 1240 km? (3) 1549 km? (4) 3942 km?

Question ID : 3666942971

Option 1 ID : 3666949291

Option 2 ID : 3666949294

Option 3 ID : 3666949292

Option 4 ID : 3666949293

Ans.  Official Answer NTA (4)

Sol.  4=+2Rn
A =nd> =n(2Rh)=27Rh

=21x6400x10° x98
=2x22/7%x64x98x10°

=39424x10° =3742.4x10°m’ = 3942 km’
Kinematics
39.  Twoprojectiles A and B are thrown with initial velocities of 40 m/s and 60 m/s at angles 30° and 60° with the

horizontal respectively. The ratio of their ranges respectively is (g =10 m/s?)

Ty AT B &7 &fas 9 30° 9 60° & BivT R A 40m/s 7 60 m/s I YT fhar SIrar € | S HEen RN

1 3gurd © (g =10 m/s?)
(H1:1 (2) V3:2 (3)4:9 4) 2:43
Question ID : 3666942969
Option 11D : 3666949283
Option 2 ID : 3666949286
Option 3 ID : 3666949285
Option 4 ID : 3666949284
Ans.  Official Answer NTA (3)
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2 .
u; sin 26
Sol. R, =— LR, =

g g

2 .
u;sin 20,

R, u/sin20, 40°sin(2x30°) 4

R, ulsin20, 60°sin(2x60°) 9

Semiconductors

40.  Forthelogic circuit shown, the output waveform at Y is:

yefRfa aifes aRuyr @ forg, Y o foefa o< w9 ©

AT re—t
—>t o—oY
Be—] )o—
B
o0 1 2 3 4
—>t
Mo 1234 @O0 172 3 14
—>t —>t
@07 5 3 4 @O 5 3 4
—> t — >t

Question ID : 3666942972
Option 11D : 3666949296
Option 2 ID : 3666949298
Option 3 ID : 3666949295
Option 4 ID : 3666949297
Ans.  Official Answer NTA (3)

A B C

0 0 0

0 1 1

Sol. 0 0 1
1 1 1

According to truth table, resultant graph is
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0 1 2 3 4
KTG & Thermodynamics
41.  Anair bubble of volume 1 cm?rises from the bottom of a lake 40 m deep to the surface at a temperature of
12°C. The atmospheric pressure is 1 x 10° Pa, the density of water is 1000 kg/m?® and g= 10 m/s?. There is no
difference of the temperature of water at the depth of 40 m and on the surface. The volume of air bubble when

it reaches the surface wil be :

12°C o w40 m 789 3T &1 dell | 1 cm? 31dce &1 U a1g &l gerdal Sodl & | digavsend g 1 x 10°
Pa, Ty @ror 10 m/s?wd urit &l g 1000 kg/m? € | o+ @1 |ag gd 40 m &1 TeRTE W Ul & argdr H Hig
IR T8I € | 99 g1y BT gergal Hg UR Ygadl & 99 SHb] I BT :
(1)3cm? (2)5cm? (3)4cm? (4)2cm?

Question ID : 3666942962

Option 1 ID : 3666949256

Option 2 1D : 3666949258

Option 3 1D : 3666949257

Option 4 1D : 3666949255

Ans.  Official Answer NTA (2)

Sol. PV, =PV,

(P, +hpg)xV, =PV,

after putting values
V,=5cm’

Magnetic Field & Force

42. Certain galvanometers have a fixed core made of non magnetic metallic material. The function of this metallic
material is

(1) to oscillate the coil in magnetic field for longer period of time
(2) to bring the coil to rest quickly
(3) to make the magnetic field radial

(4) to produce large deflecting torque on the coil

MATRIX JEE ACADEMY
Office : Piprali Road, Sikar (Raj.) | Ph. 01572-241911

Website : www.matrixeduw.in ; Email : smd@matrixacademy.co.in

Page No. 10




n M ATRIX Question Paper With Text Solution (Physics)
JEE Main April 2023 | 08 April Shift-1

e aREINAT 4 srgmag e1fcad uarel &1 a1 Tdh B HIS 8l © | 39 dTfcdd uamel & dr ¢
(1) g &3 d Zusell Bl S 3ax b1 P Qe H d

(2) Freet BT IOl | AR # A H

(3) g & B sy g9 #

(4) FHreell W 31F ey g meel I H H

Question ID : 3666942977
Option 11D : 3666949315
Option 2 ID : 3666949318
Option 31D : 3666949317
Option 41D : 3666949316

Ans.  Official Answer NTA (2)

Sol. Time varying B = Induced E = eddy current produced = energy loss = stop

Sound Waves

43.  Theengine of a train moving with speed 10 ms™! towards a platform sounds a whistle at frequency 400 Hz. The

frequency heard by a passenger inside the train is: (neglect air speed. Speed of sound in air =330 ms™)

T RIchM @I 3R 10 ms™ @1 =rel | T U NSt &1 goiv 400 Hz 31 3mgiy & v A1) &1 eafs a1 Ham
£ | NSl @ 377ax 49 U T3 gIRT el A1 IR & | (A D1 @Ted 70 AR | arg # &4 o1 a1l = 330 ms™):
(1)400 Hz (2)388Hz (3)412Hz (4)200 Hz

Question ID : 3666942961
Option 11D : 3666949254
Option 2 ID : 3666949252
Option 3 ID : 3666949253
Option 4 ID : 3666949251

Ans.

Sol.

Official Answer NTA (1)
The relative velocity of a passenger with source of sound (engine) is 0. So there will be no doppler’s effect. So

frequency heard is 400 Hz.
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Newton's Laws of Motion

44.  Atany instant the velocity of a particle of mass 500 g is ( 2ti + 3t>j)ms . If the force acting on the particle at t
=1sis (i + xj )N. Then the value of x will be:
forer &1 TR 500 g TIHE & Yeb BT BT AT (2t + 362 )ms ' B | It = 15 TR o1 R AR T (§ + xj )N | 79
X T HIE BN
(1) 3. (2)6 (3)4 42

Question ID : 3666942966

Option 1 ID : 3666949273

Option 2 ID : 3666949271

Option 3 ID : 3666949272

Option 4 ID : 3666949274

Ans.  Official Answer NTA (1)

Sol.  ap-2--15wp
a=2i+64
at t=1,d=2i+6]

F= ma =0.5Q2i+6j)=1+3]

F=i+x
Hence x =3
Nuclear Physics
45.  Foranucleus ? X having mass number A and atomic number Z

A. The surface energy per nucleon (b,) = —a,A*”>.

7Z(Z.-1
B. The Coulomb contribution to the binding energy b = a, %
C. The volume energy b =a,A

D. Decrease in the binding energy is proportional to surface area.

E. While estimating the surface energy, it is assumed that each nucleon interacts with 12 nucleons. (a, a,and a,
are constants)

Choose the most appropriate answer from the options given below :

(1)A,B,C.D only (2) C.D only (3) B,C only (4) B,C.E only
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A AN T T Z WA i B P AfHG A X B i

A. 9 YfFer= g8 &oft (b,) = —a,A™".

B. g5 Sl &1 dgiled 9TTb = a,

C. JmgeH &oif b, =a A
D. g9 Soft # 1 U5 &5hel & SIHATURT Bl € |
E. g ot (eprer & forg I8 |1 S & & ycies =gfderd= 12 <gfderami & smef3id g 1 (a,, a, 9 a, Fricis &)
A & T fAdenl 9 iffead Uy IR gin
(1)@aa A,B,CaD (2) @aat Ca D (3)@ast Ba C (4) @9 B,Cd E
Question ID : 3666942973
Option 11D : 3666949299
Option 2 ID : 3666949301
Option 3 ID : 3666949300
Option 41D : 3666949302
Ans.  Official Answer NTA (2)

A2/3
Sol.  (A)Surface Energy per nucleon b, =—a, T AP
(B) Coulomb contribution in BE = b, =—a, Z(Z—;l)
A

(C) Volume energy =b, = a,A

(D) Surface energy b, =—a,A*"”

b, oc surface area

bsc R®

R=R,A"

bsoc A*?

(E) In volume energy each nucleus interact with 12 nucleons, but in surface energy it in proportional to area.
Units & Dimensions

1
46.  Dimensionof ~—— should be equal to
Mo S

P far B8N

Ko €
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() T/L (2) LY T? (3)L/T (4) T2

Question ID : 3666942976

Option 1 ID : 3666949312

Option 21D : 3666949313

Option 3 ID : 3666949311

Option4 1D : 3666949314

Ans.  Official Answer NTA (2)

1
Speed =
Sol. \/E

=(Speed)* &

Ko& Ho€

1
=

=[LT] =1

Gravitation

47.  The weight of a body on the earth is 400 N. Then weight of the body when taken to a depth half of the radius

of the earth will be:

9ol IR U U 7 YR 400 n & | 519 TS BT Yeall 1 35T & 377 A9 PI TE-TS W o ST Sl © 9 9P 4R
BT :

(1) 100 N (2) 200 N (3) 300 N (4) Zero

Question ID : 3666942968
Option 1 ID : 3666949280
Option 2 ID : 3666949281
Option 3 ID : 3666949282
Option 4 ID : 3666949279

Ans.  Official Answer NTA (2)
Sol.  W=mg=400N

At depth d, gravity g'= g(l - %}

R R g
Ford=—g'=g|l-—— |==
2g g( ZRJ 2

W'=mg'=%=2OON
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Measurements & Errors

48. A cylindrical wire of mass (0.4 +0.01) g has length (8 + 0.04 ) cm and radius (6 + 0.03 ) mm. The maximum
error in its density will be:
(0.4+0.01) g HTHT & T el IPR TR BT TS (8+0.04) T 3921 (64 0.03) mm 8 | $HF T H Hfeyeper
e grf:
(1) 1% (2)4% (3) 5% (4)3.5%

Question ID : 3666942970

Option 1 ID : 3666949287

Option 2 ID : 3666949289

Option 3 ID : 3666949290

Option 4 ID : 3666949288

Ans.  Official Answer NTA (2)

n |
nrl p

Sol. p=

:‘d_m +2
max m

dr
r

‘dﬁ
+ -
1

0.01 2(0.03) 0.04
= + +
0.4 6 8

= % error in density = (@J x100%
p

= (2.54+1+0.5)% = 4%

FElasticity

49.  Analuminium rod with Young's modulus Y ="7.0 x10' N/m? undergoes elastic strain of 0.04%. The energy per
unit volume stored in the rod in ST unit is:

Y =7.0 x10" N/m? 3T YITRIT T[0T & A1eT U Vegiaad a1 B¢ 0.04% v el & sraia Sl & | uf

Ui I # dfd St (J/mPH) &
(1) 5600 (2) 11200 (3) 2800 (4) 8400
Question ID : 3666942964
Option 11D : 3666949264
Option 2 ID : 3666949266
Option 3 ID : 3666949263
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Option 4 ID : 3666949265

Ans.  Official Answer NTA (1)

Sol.  PE per unit volume = 1/2 stress X strain

= 1/2 y (strain)?
=1/2 x 1.6 x 107 x (.0004)* :%XHIO‘O x16x10™ = 5600

Gravitation

50. Given below are two statements:

E
Statement I: If E be the total energy of a satellite moving around the earth, then its potential energy will be 5

Statement II: The kinetic energy of a satellite revolving in an orbit is equal to the half the magnitude of total
energy E.

In the light of the above statements, choose the most appropriate answer from the options given below
(1) Both Statement I and Statement II are incorrect

(2) Both Statement [ and Statement II are correct

(3) Statement I are incorrect but Statement II are correct

(4) Statement I is correct but Statement Il is incorrect

el P A TR

ot 1 9o & R ) 50 T TS A g I o E 9, o g R o = a

Statement I1: T% w&T % g0 8Y U SUTE BT IS ol Gel Srolt E & IRATT & 1 & ax1aR 8l 2|
IR PN S Haw 4, 1 & T Aped § ¥ Faifde Iugd SR gAg ¢
(1) =i w2 [ T w11 Tad &

(2) = P [T Hoe [ 98 &

B) P e € iR FUA I WE B
(4) d [ €1 & Wy b I TTerd 8

Question ID : 3666942965

Option 1 ID : 3666949268

Option 2 ID : 3666949267

Option 3 ID : 3666949270

Option 41D : 3666949269

Ans.  Official Answer NTA (1)
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P.E.
Sol. KE=—-(ME.,)= -
Current Electricity
51.  Acurrent of 2 A flows through a wire of cross-sectional area 25.0 mm?. The number of free electrons in a cubic
meter are 2.0 x 10%. The drift velocity of the electrons is x 10 ms!(given, charge on electron = 1.6 x
10°C).

25.0 mm> & 3w URTT &l & UHaR # 2A &1 UH ORI JaTfad 8l € | Ud 6 HIeR # Jib SclagiHl ol |l
2.0x 10228 | sodagil @ mAa a1 x 10°ms g (f&am &, Sefag[ W amaer= 1.6 x 107°C) |
Question ID: 3666942989
Ans.  Official Answer NTA (25)

Sol. Drift velocity v, = 1
neA

2
T 2x10% x1.6x107"° % 25%10°°

=25x10"ms™

Nuclear Physics
52.  Anucleus with mass number 242 and binding energy per nucleon as 7.6 MeV breaks into two fragment each

with mass number 121. If each fragment nucleus has binding energy per nucleon as 8.1 MeV, the total gain in

binding energy is MeV.

242 g ¥ Ud Ui I = g St 7.6 MeV &1 Ta A1fid Tdh JAH gai Sl 121 & 11 8ic— 2 [gvsl
# T2 I 7 | I IS WUS Afid Bl Uit (I g FHott 8.1 MeV &1, a1 SHoft 4 B gig MeV
gl

Question ID: 3666942985

Ans.  Official Answer NTA (121)

Sol.  Initial binding energy =242 x 7.6 MeV
Final binding energy
=121 x 8.1 MeV + 121 x 8.1 MeV
=242x8.1 MeV
Total gain in binding energy
=242 (8.1 -7.6)=121 MeV
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COM, Momentum & Collision

53.  The momentum of a body is increased by 50%. The percentage increase in the kinetic energy of the body
is  %.
T fUvs &1 HaT 50% 98 S 2 | fuve @l i ot | ufed gt % E |

Question ID: 3666942984

Ans.  Official Answer NTA (125)

2

Sol.  KE=2-
KE' =m = 2.25i; % change in KE = 2:25-1 x100=125%
2m 2m
Alternating Current
54.  Anoscillating LC circuit consists of a 75 mH inductor and a 1.2 uF capacitor. If the maximum charge to the
capacitoris 2.7 uC. The maximum current in the circuit willbe ~~ mA.
T&h aled $d 8¢ LC uRuer 3 75 mH &1 va WReb Ta b 1.2 pF &1 va |emRa o & | afg \eniRa W qet amast
2.7 uC 2 | uRuer # 3rferaaH T mA grfl |

Question ID: 3666942987
Ans.  Official Answer NTA (9)

-6
Sol. Io= Y _ a0 —9x107° =9mA
JLC  J75x107 x1.2%10™
Fluid Mechanics

55.  Anairbubble of diameter 6 mm rises steadily through a solution of density 1750 kg/m? at the rate 0of 0.35 cm/s.
The co-efficient of viscosity of the solution (neglect density of air) is Pas (given, g= 10 ms?).

1750 kg/m’* &ica & U& ©1d # 6 mm T HT U a1g T gargen 0.35 cm/s 1 RI1E R ¥ I3 8 | HicT BT 21

BUIED Pas € (ag &1 &icd vy AR Td 31 7, g = 10 ms™2).
Question ID: 3666942982
Ans.  Official Answer NTA (10)
B

Sol.
Fv

Since the bubble is moving at constant speed the force acting on it is zero.
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B=F

v

%nR3pg =6mmRyv

2R’pg 2x(3x107) x1750x10

=10 Pas
v 9%0.35x107

T‘l:

Sound Waves

56.  Anorgan pipe 40 cm long is open at both ends. The speed of sound in air is 360 ms™'. The frequency of the

second harmonic is Hz.
T 40 cm T I UISy |IF1 RRT OR el g3l & | arg H &= &l =1et 360 ms™! 2 | gy w1 @ amgfa Hz
gl

Question ID: 3666942981
Ans.  Official Answer NTA (900)

S (20 PO S [
Sol. L)L 40x107

F=900Hz
Electrostatics

57.  Anelectric dipole of dipole moment is 6.0 x 10-°C m placed in a uniform electric field of 1.5 x10°NC ! in such
a way that dipole moment is along electric field. The work done in rotating dipole by 180° in this field will be

m).

6.0 x 10-°C m fggga ameet &1 vas fagygd faga 1.5 x10°NC ' & va e faggd &3 # 39 UaR @ & & f3ya smef
fgaea s ey eI su e A faga o1 180° s gAN H g v mJ &n |
Question ID: 3666942990
Ans.  Official Answer NTA (18)
Sol. 9,=0
0, =180’
W =U, - U, =(~PEcos180") ~ (~PEcos0’)

=2PE
=2x6x10°%x3/2x10"
=18x10° J=18 mJ

Geometrical Optics

58.  Two vertical parallel mirrors A and B are separated by 10 cm. A point object O is placed at a distance of 2 cm
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from mirror A. The distance of the second nearest image behind mirror A from the mirror A is cm.

3 SeafeR FATR U0 AT B U g ¥ 10 em @1 8 R Rerd 81 301 A9 2 cm @1 g8 W TS fag avg O W
Rerd 21 gdor A 4 fgcdia Maeaw ufafaw @ gdor A9 cmzE |

A B

2 cm

<+—10cm—»

Question ID: 3666942986
Ans.  Official Answer NTA (18)

A B
I 2408
Sol. I 18 10 12
I 22><28
Rotation
59.  The moment ofinertia of a semicircular ring aobut an axis, passing through the center and perpendicular to the

1
plane of ring, is < MR’ where R is the radius and M is the mass of the semicircular ring. The value of x will be

Wmﬁqﬁwmwwmﬁﬁqﬁamw&mz%ﬁﬁ@w@wwmaﬁéwﬁﬁﬁl

et M 3rdqdiadR Beol &l gegwe derl R 351 81 x &1 /11 BT |
Question ID: 3666942983
Ans.  Official Answer NTA (1)

Sol.  The moment of inertia of semicircular ring about axis passing through centre of ring and perpendicular to plane
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of ringis=MR?
sox =1

Magnetic Field & Force

60.  The magnetic intensity at the center of a long current carrying solenoid is found to be 1.6 x 10° Am™. If the
number of turns is 8 per cm, then the current flowing through the solenoidis ~ A.
T Tl ERTATE] URATADT & b IR gradbrd &3 H digam 1.6 x 103 Am' urat 8r:il 2 | 3t ufey 4.4 o1 &1 Hen
88 dluRAIfei A yafed et~ A ®|

Question ID: 3666942988
Ans.  Official Answer NTA (2)

Sol.  H=— =My
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